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The character of is the greatest achievement of Conan Doyale.

A) Pick wick papers

B) Kennilworth

C) Sherlock Holmes

D) The Antiquary

Correct Answer :- C) Sherlock Holmes

The play 'A woman of No Importance' by Oscar Wilde was produced in

A) 1793

B) 1893

C) 1700

D) 1800
Correct Answer :- B) 1893



Who says these lines about E.M. Forster "In the space of one paragraph
Mr. Forster can be wise, and flippant, censorious and lyrical".

A) H.G. Wells
B) David Cecil
C) Arnold Bennett

D) Joseph Conrad
Correct Answer :- B) David Cecil

Which is Mrs. Elizabeth Cleghorn Gaskell's unfinished novel ?

A) Wives and Daughters
B) Mary Barton - A Tale of Manchester Life

C) Ruth

D) Sylvia's Lovers

Correct Answer :- A) Wives and Daughters



Which work of Christopher Fry won the 'Shaw' prize ?

A) The Dark is Light
B) The Lady is not for Burning
C) The sleep of prisoners

D) Thor with Angels
Correct Answer :- B) The Lady is not for Burning

No news good news.

A) are
B)is
C) were

D) have been

Correct Answer :- B) is



Matthew Arnold's "The Scholar Gipsy' is a poor Oxford Scholar in search
of :

A) God
B) Truth
C) Gold

D) Money

Correct Answer :- B) Truth

Who wrote the first small and readable book on Philology in English and
edited texts of several kinds ?

A) Joseph Wright
B) John Earle
C)H.C. Wyld

D) Captain Boycott

Correct Answer :- B) John Earle
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is a collection of short stories providing vignettes of Irish
life.

A) Dubliners

B) A portrait of the Artist as a youngman
C) The Forstye Saga

D) Pointed Roofs

Correct Answer :- A) Dubliners

In a famous criticism of the pastoral in Milton's Lycidas, Dr. Johnson

wrote of the poem as 'Easy, Vulgar and therefore disgusting ; but here
"Vulgar' is meant

A) distasteful
B) hatred
C) common place

D) Unpleasant

Correct Answer :- C) common place
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The Press Institute of India was set up in .

A) 1963

B) 1973

C) 1943

D) 1983
Correct Answer :- A) 1963

Traditional Spelling rhymes are

A) rhymes which once sounded perfectly in accord may become quite
lost.

B) rhymes may be addressed merely to the eye.
C) rhymes used by influential poets in past times.

D) rhymes which were sweet to children.

Correct Answer :- C) rhymes used by influential poets in past times.
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says, "After the death of Dryden and Pope, the poetry which
copied them became too rigid, as a result of inferior craftsmen imitating
their structure without inheriting their genius for varying the movement
of the time.

A) Herbert Read
B) F.R. Leavis
C) Dr. Edith Sitwell

D) Edwin Muir
Correct Answer :- C) Dr. Edith Sitwell
In the nineteenth century the struggle has been the most recent

source of Dutch influence on English.

A) South Africa
B) America
C) Italy

D) Norway
Correct Answer :- A) South Africa
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In the word 'telephone' - tele refers to

A) by

B) far

) tell

D) For

Correct Answer :- B) far

The term "Georgian" was coined by :

A) W.H. Davies

B) Edwrd Marsh

C) Rupert Brooke

D) Nichols

Correct Answer :- B) Edwrd Marsh
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The term 'Ecology' has been derived from .
'o_UINfleor QUITLDEEM S G5LO6V' 6T6OTM GUITITE 6005 Ul 60T S
6L @ (BHS Q& Meoor(h GUTLILIL L Sl

A) Italic

@Q53med
B) Greek

HCISHELD
C) French

NQreha
D) Arabic

ATY

Correct Answer :- B) Greek

The first flood forecasting station was established in Delhi in

1960690 U6V 6TH & 24,600T(H QEUEITET GILI[HE 6 & (H 160

(LNETER L1 G M 6USM & T60T [Blem6VLIS M S (LN G606V
S{NLOGHET T

A) 1958
1958
B) 1968
1968
C) 1985
1985
D) 1986
1986

Correct Answer :- A) 1958
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The most populous State with almost 200 million people in India is

@S wmallev 200 LS W &G0 CLN6L IH 5
D& &6TG & T8 Q& Me0oTL LOITH6VLD .
A) Uttar Pradesh

2 5HTLINTCHFID
B) Bihar

Semy
C) West Bengal

GLMG GUMIGITETLD
D) Kerala

@& IJerTIT

Correct Answer :- A) Uttar Pradesh

The dairy development programme through co-operative society was
first established in the State of

Fal_(HMe FhIsES 60T UL UITE 2 [HeUMS&HLILIL L LIV
2 MUSDH QF UM HL_L&H 60T (NS 60T(LNS6016V
alfleliL(GsS W LmElevld .

A) Tamil Nadu
SLBTGH
B) Uttar Pradesh
2 5HTLINTCHFID
C) Orissa

el &m
D) Gujarat

GRS

Correct Answer :- D) Gujarat



21 'Which one of the following National Parks is not correctly matched ?

L edTeupLd CHFIWI LLBISTHS6l6V 6ThS LLMBIGIT SaUmTs
Fo UL (H6Terms.

A) Guindy - Tamil Nadu
&levorlq — SLADPBTEH

B) Molen - Goa
@LomGleverT — G&Imeum

C) Bhagwan Mahavir - Bihar
LIGeUmedt In&mely — Lfammy

D) Balpakhran - Meghalaya

LIMeVLITE [T IT60T — GLO&S eV IT

Correct Answer :- C) Bhagwan Mahavir - Bihar

22 Karnataka is the leading producer of ore in India.

@S WmalléL SHIHITLS DMTHIVESH 6L AH & LILIGUITS
2 MUSHUWMTGSGLD SIS
A) Manganese
LO T 15185601 &+
B) Iron
@@Ly
C) Gold
SIS
D) Bauxite

LIT& 60)6rVL_

Correct Answer :- B) Iron
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The sudden and abruptness of the Indian monsoon is known as the

THTUMTIM HleQrerm g HUGLD GBS W Li[Heus
STHIHS 6T6OTMI QILIWITT.

A) Onset monsoon
LI[HeU SITMmMI &TeVlD
B) Progress monsoon
(LN6oTGeOTMM LIHEU S ITMHI
C) Break in the monsoon
LYemey LIgHer Smmhm
D) Burst of monsoon

QeI & GSLD LIH6eU &TmHm

Correct Answer :- D) Burst of monsoon

M.F. Maury, one of the founders of

6TLD.6TL1.GLom ] e Bl MINIULIGITS EBH6T 6(H6UIT.

A) Ecology
& L0606
B) Oceanography
Gurmluiluesy
C) Climatology
&mev mBlemeuudlwiev
D) Demography
D& &e6rflw6v

Correct Answer :- B) Oceanography



25

26

'"Titan' is the largest satellite of the planet.

'60)L_L_60T" 6T60T LIS GamemeTs M eu(BHLD LISLI
QuUlW glemeoord G&ITET @G LD.

A) Jupiter

el Wi Lp 60T
B) Mercurry

L & 607
C) Mars

QF6UGUIT
D) Saturn
F6of]

Correct Answer :- D) Saturn

River Basin is the maximum area covered by their surface
flow.

Loliugliiey o5 s sy UmiibCsmiID LM mis
Q& ITLILNT .
A) Ganga
SHHEINSH QM
B) Indus

FHsl B
C) Brahmaputra

N7bLUSSTT <ol
D) Mahanadhi

ID&THS

Correct Answer :- A) Ganga
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The Commission to suggest the allocation of Financial Resources
between the Central and State Government is

G S — IDTH6L AHT&HEEHES DSl

@5&HH(H QFUIULD.

A) Planning Commission
FHLL&HS W

B) Finance Commission
BIEI& S W

C) National Development Commission
CHHF W eUeTIEFH & & (WD

D) Tax Reform Commission

eufl Lo @4,U16)] &)

Correct Answer :- B) Finance Commission

Match the following :

Unemployment Programme Starting year
(a) Integrated Rural Employment Programme (i) 1999
(b) Employment Assurance Programme (ii) 1989
(c) Jawahar Rozgar Yojana (iii) 1993
(d) Swarna Jayanthi Gram Swarozgar (iv) 1980
QT 5815 :
Geuemev eumiilils S L b SlumISLILL L 24,6001 (5

(a)  R(HIISHENE0NHS SIFTLDLILIM

Geuemev eumILILG S L LD (i) 1999
(b) Geu6meL EUMLINIL 2 MIFlH Sl L LD (ii) 1989
(c) meaiamiy Grrs &y GImesorm (i) 1993

(d)  elveurfenT CleiLimhdl ST eroeuGrT &I

Giime26orm {iv) 1980



A)a - (iv), b - (iii), ¢ - (ii), d - (i)
a- (iv), b - (iii), ¢ - (ii), d - (i)
B)a - (iii), b - (ii), ¢ - (i), d - (iv)
a - (iii), b - (ii), ¢ - (i), d - (iv)
C)a - (ii), b - (i), ¢ - (iv), d - (iii)
a - (ii), b - (i), ¢ - (iv), d - (iii)
D)a- (i), b - (ii), ¢ - (iii), d - (iv)
a - (i), b - (ii), ¢ - (iii), d - (iv)

Correct Answer :- A) a- (iv), b - (iii), ¢ - (i1), d - (1)

29 The main reason for Rural Poverty in India is

@S Wmaley Sy m emgusmmasﬁws@u_lmrrm
SITIT600T LD .

A) Alarming population growth
FHEUMEVE T L LDITEOT D& 6T QST 8 eUeTTFF)
B) Lower literacy rate
&emWbg L Liumley efgLd
C) Regional inequalities
QULLMID EMTJHS JOHMSSTLE
D) All the above
GLMEnMU 36MeTSH SN

Correct Answer :- D) All the above

30 In the Indian Economic Development, the secondary sector is :

@bHH WL QUITHETTSTT eueTIEF Ullev @) JevorLmeus)
8160 :

A) Industrial sector

Q&S TSl6L lemm



B) Banking sector
QUMRIR G Slemm
C) Trade sector
6UTeoof LIS Slemnm
D) Forestry sector

61 6075 &l6M M
Correct Answer :- A) Industrial sector

31 The population density in India per km? in 2017 is

2017 —LD QL,600TIQ.60TLILG. @ HHUITeNl6L 62(H &SI @@eurr
IS L (5SS LDGHE6T Q&5 TeNdH L T5HS5)

A)452
452
B) 462
462
C) 472
472
D) 482
482

Correct Answer :- A) 452

32 is the Chairman of the Twelfth Finance Commission.

LI60T6011 G\ [J600T LT S BIH & & (WD6eN60T &6mevally .

A) AM. Khusro
AM. GG
B) K.P. Salve

K.P. &meuGel
C) K.C. Panth

K.C. Ub&
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D) Dr. C. Rangarajan
Dr. C. JMRI&JTE60T

Correct Answer :- D) Dr. C. Rangarajan

India had only "Annual Plans" and not five year plan in the following
years :

1. 1965 - 1968

2.1972 - 1975

3. 1966 - 1969

4. 1990 - 1992

@BHWTaleL 8BS meoor(h) HL_L LD @) 6V6VITLN6V "3y, 600T(H)
G LLD" Bem L (e MmLUILQSSLIL L 3,600 (H &6 :

1. 1965 - 1968

2.1972 -1975

3. 1966 - 1969
4.1990 - 1992

A) 1, 2 are correct

1, 2 Fiflwmeotemey
B) 2, 3 are correct

2,3 Frflwmeotemey
C) 2, 4 are correct

2, 4 Frflumeremel
D) All are correct

|MeTSH S FiflulmeoTemeu

Correct Answer :- C) 2, 4 are correct

The plan period of Eighth Five Year plan was
6T LIeU& & mevor(h) S L& H 6 S L& &Meuld

A) 1992 - 1996
1992 - 1996
B) 1992 - 1997



1992 - 1997
C) 1992 - 1998
1992 - 1998
D) 1992 - 1995
1992 — 1995

Correct Answer :- B) 1992 - 1997

35 India's Eighth Five Year Plan period is

@m@u_lrrmﬁleu 6T L MeU S 83155 mevor (h) @I_I_QS@GOT & MeVLDd

A) 1990 - 95
1990 - 95
B) 1992 - 97
1992 - 97
C) 1991 - 96
1991 - 96
D) 1993 - 98
1993 — 98

Correct Answer :- B) 1992 — 97

36 The Second Five Year Plan was an Industrial plan based on :

@) [T600T LTSI 83155 MevoT(h) HL_ L& & 60T L9 LILIen L ulev
Qsmdlev B LD WmHenL W TS flenul
O LILI6D L WITE Gl&T600TL_Sl.

A) Visveshwarya Model
afleruGeuereu Wi mH i
B) Mahlanobis Model

N&HeVEHTLIN6v LDMH ]
C) Kaldor Model

ST LnmH il



D) Leontief Model
eGWmedTIe L1 LDMH ]

Correct Answer :- B) Mahlanobis Model

37 British followed the policy of Subordinate Isolation from to
on Indian States.
QBEH W ST&&6T LTg! S mHE N

Seotlen L ILIRSS) HeoTaUFLILMSSIS560 G5 MeTen & 6m UL
L BIRCWITSHET &6t LI &S 60Tl

A) 1740 - 1765
1740 - 1765
B) 1765 - 1813
1765 - 1813
C) 1813 - 1857
1813 - 1857
D) 1857 - 1935
1857 — 1935

Correct Answer :- C) 1813 — 1857

38 Where is Chauri Chaura ?
Q&6Tfl QEF6TIIT 6TMHIG6TETS! ?

A) Uttar Pradesh

2 5517 I5Cssld
B) Bihar

Fammy
C) Hariyana

amilwmerm
D) Delhi

QL6v6l

Correct Answer :- A) Uttar Pradesh
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Each Parliamentary Constituency of Tamil Nadu consists of
Assembly Constituencies.

SLOILDIBITL L9 8VIGTEIT 626)G6UT(H LITITITEH L0 60T M
QTG LD FLL LD6TM Q& TE&HH SHemerT
2 GTeTL &SRS,

A)6
6
B)7
7
Q)5
5
D)4
4

Correct Answer :- A) 6

Who wrote the book 'Sathyartha Prakash' ?
'FHWMTSS LNTSHTe' 6T60TM HITem6V eT(SUIeUT W ?

A) Swami Dayanand Saraswathi
FaumLdl W TeTHS &Jervel)
B) Lala Lajpat Rai

6LITEVLIT VLIS [T
C) Mahatma Gandhi
IDSTSHLOIT &THS)
D) B.G. Tilak

LIT.&. $6vd

Correct Answer :- A) Swami Dayanand Saraswathi
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In which year, UNO declared the declaration of Human Rights ?
6TIH S 2,600T(H V&S W BTH&ET 66l Ln6oflS
2 flemwseT NpsLersens LNgsLerliL(SH WS ?

A) 1945
1945
B) 1946
1946
C) 1947
1947
D) 1948
1948

Correct Answer :- D) 1948

The founder of 'Servants of India Society' :

'QBH W 2em N UWITE 6T FhISHHMNSE CHTHMINSHT

A) W.C. Banerjee
LSeTw. . umeori el

B) Swami Dayananda
FreU Ll & WImeoT [H&s IT
C) Gopalakrishna Gokhale

Ga TV & (H6q.600T G&HTEHG6V
D) Arabindo Ghosh

ATHCHT GHmag

Correct Answer :- C) Gopalakrishna Gokhale



43

44

The Parliament of India consists of

Q& MeooT.(BLILIS @\ HS\W LI ITEHL60T L.

A) The President
GQUT&HS Hev6evell
B) Lok Sabha
LD & & 6606
C) Rajya Sabha
LOIT[Bl6V MBS 6T 6U
D) The President, Lok Sabha and Rajya Sabha
GQWLTEHFS HM6VAUT, LDSHE6Tem6 LDMMILD
LOIT[B6V MBS 6T6m6U
Correct Answer :- D) The President, Lok Sabha and Rajya Sabha

Who was the Viceroy of India during the time of the formation of Indian
National Congress ?

@BH W CHHF W STHRIG TV U TILINSSCUTWLS
@BHSH WTeN6T emeUSFITMTWLITS @UHHSeUT WITH ?

A) Lord Rippon
fliuest Loy
B) Lord Dufferin
Lurflest Koy
C) Lord Curzon
&ygeor LY
D) Lord Lytton
e9lL_Leor Ly

Correct Answer :- B) Lord Dufferin
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The Directive Principles of State Policy of India was borrowed from

constitution.

TR Wevem 1N BH S @)\bHS
TR e W auPlamL (b QBMlenmE
CHIMTLUMH&HET 6T &S MemLILIL(H6TemS.

A) America
IQWflEsEs
B) USSR
gequim
C) British
L1960
D) Ireland
SWITVTHI!
Correct Answer :- D) Ireland

Part III of Indian Constitution deals :
QBH W 2TF WeuenolILeT LGS 1 efeTé:Geus :

A) Fundamental Rights
S LiLemnL 2 flemlnser
B) Directive Principles
QUNSTL () QBMIenm G L LIMH &6T
C) The Union
W,6011 LI 60T
D) The Parliament

LTI MEBHLO60TMLD

Correct Answer :- A) Fundamental Rights
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By the Charter Act, Company's monopoly and power was renewed for
years.

Frger FLLLUL, SeuUefluileenw g&sCLMs
2 flemuld, G &TILD 21,600T(H & EHE S
@M LISILILNG&LILL Gausvor(hlLD.

A) 12
12
B)15
15
C)18
18
D) 20
20

Correct Answer :- D) 20

AIADMK captured power in Tamil Nadu in

-6V HULNESHH L 2.G)..5).1.5. %I—@mu
& LILMHMIWLSI.

A) 1972
1972
B) 1977
1977
C) 1989
1989
D) 1996
1996

Correct Answer :- B) 1977



49 Who said, "Vellore Mutiny was Prelude to the Revolt of 1857" 2

"1857- UTLH1&G (LNeTG6ormLy CeUsyT) 85608 L0" 6T6dTM)
GG WITI 2
A) V.A. Smith
all. e1. eV G
B) Veera Savarkar
iy FUTI&HST
C) A.O. Hume
6J.6. QU CLD
D) Bharathiyar
UTFSIWImy

Correct Answer :- B) Veera Savarkar

50 Jivakarunya is the philosophy of

IO &5 SI6ULD 83618 T([H6E00T W LDMEGLD.

A) St. Ramalinga

@I T6SIHIs |19.86T
B) Uran Adikal

DO T60T L9 &6IT
C) Swami Vivekananda

FreumLdl el Geussmeot b [
D) Bharathiyar

UTFSIWImy

Correct Answer :- A) St. Ramalinga
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Who presided over the Diwani Adalat cases during the time of Warren
Hastings ?

6UITITE0T BN ENVLY M6 &MeVEH6L Hleument] 9jLevs
QLG G5 EHEH G FH6M6VeLD UHG ST WITY ?

A) The Collector
YN 2 [V )

B) The President
QeTTH LIS

C) The Deputy Nazim
SlemeooT LD

D) The Chief Justice
FHenevenln HH LIS

Correct Answer :- A) The Collector

In which year was the Danes East India Company founded ?

6TH S 24,600T(H LEFFH TS 66T HLps &S @ HS Ul
&G U6l Bloyeuliul L gl ?

A) 1498
1498
B) 1602
1602
C) 1616
1616
D) 1664
1664

Correct Answer :- C) 1616
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Which Constitutional Amendment, amended preamble of India from

'Sovereign Democratic Republic' to a Sovereign Socialist Secular
Democratic Republic"?

TS HTFWevenDLIL] FLL HH(HSHLD, @ HGH U 7 Fleor
(NS LIL6M Tt @)60)MULIT60T60) LOU|60)L_LLI $260THITUIS

S WTRN MBS @emmulmeTenou]enw Camseis
INSEFTFUMDHM Q60T HITWLS GLUTEFTS DTHmIWS ?

A) 42" Amendment

Neaugl FLLS HHSHHLD
B) 44 Amendment

446018 5L LS HHSHSHLD
C) 62" Amendment

62618 FLLS H(HSHHLD
D) 82" Amendment

826U8 FL LS H(HGH S0
Correct Answer :- A) 42" Amendment
Dandi March was started on .
—6V F600TL. WMSHenT S TLNGSLILLL G
A) 12 March, 1930

12 D&, 1930
B) 12 March, 1931
12 DTG &, 1931
C) 12 April, 1930
12 eFLIT6V, 1930
D) 12 April, 1931
12 eFLIJ6V, 1931

Correct Answer :- A) 12 March, 1930
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Who was elected as the President of Indian National Congress in 1938 ?

1938 —6L @ HH W CHF W &THIGK FerSlenlem LU SH6M6VEUT TS
CHIHOSHMH &S LILIL_ LU WITH ?

A) Jawaharlal Nehru
geuamyeuTeL GhH(

B) Subhas Chandra Bose
FUMe FhHSH T CLImen

C) Mahatma Gandhi
IDSTSLOIT &THS)

D) Ananda Mohan Bose

1L60THS GLOMEH60T GLIMTEN

Correct Answer :- B) Subhas Chandra Bose

Which is the oldest Corporation in India ?
@B WITeN 60T LILD6oLOUIT60T LOMBE&TTL & 618 ?

A) Delhi
GL6Vel
B) Bombay
LmEu
C) Calcutta
HVHSHSHT
D) Madras

G & 60T60) 60T

Correct Answer :- D) Madras
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The traffic lights at three different road crossings change after every 48
sec., 72 sec. and 108 sec. respectively. If they all change simultaneously

at 8 : 20 : 00 hours, then the time will they again change simultaneously
is

eLN 6T Gl6UEU CEUMITEOT FITEMEVEHEM6T &L &GN @)L &FH 6V
2 6o GUIMG G UTSHS! Lol6oT el6ms: @& 86T (LpemmEGul 48
6N6oTITLY. 8561, 72 el6oT T S6T LoMMmILD 108 efleorig.&erflev
BIMLD DTG 60T 60T. 3616 6TE & 86T eLNETMILD 8 : 20 : 00
6T60T M LD6vot | Wlemellev BlMHIgem 6T LM Ml 6oTmev, L6vor(h LD
2{eUe 68 & S6T eLNeiTOILD 6THS RGT CHIS S 6

Bl MBIGEM6T LDMMHM & Q& MeTEHLD ?

A)8:27:12 hrs

8:27: 12 Ln6vol]
B)8:25:12 hrs

8 :25: 12 Ln6vol]
C)8:20:24 hrs

8 :20 : 24 LD6vOT]
D)8 :27: 24 hrs

8 :27 : 24 Ln6vol]

Correct Answer :- A) 8 : 27 : 12 hrs

H.C.F. 0of 3240, 3600 and a third number is 36 and their L.C.M. is
2%x3°x5%x 7°. Then the third number is :

3240, 3600 LDMMILD 62([H CLOEITMITLD 6T600T600T 60T LOLIGILI(H
QUIMEI &TIeot] 36 QLG LD. GLOSYILD 3| LDELNEOTM) 6T600TEs 61l 60T
IWSEFF M QUIMS! IOL_MIG 24x3°x5% 72 6T60fl6V IS eLNEOTMITLD
6T600T :

A)22x35x7 2
22x3%x7 2

B) 2°x5°x7°
2%2x5°x7?

C) 2°x5%7?



2°x5%x7?
D) 23x3°x 72
23x3°x7?

Correct Answer :- A) 2°x3°x7 2

Which of the figures complete the figure matrix

[T

.
I—} T, —_—

HEE

6Th& LIL_LD LTl66T6)(THLD 6UEMITLIL SieutnleniLl Hlexfé& &l GlaF b :

[T

A)

B)l‘[
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0

D)

]

Correct Answer :- A)

A mixture contains alcohol and water in the ratio 4 : 3. If 5 litres of water
1s added to the mixture, the ratio becomes 4 : 5. Find the quantity of
alcohol in the given mixture.

@(H HevemaUuilev DG LDMHMILD &600T6001 1T 4 : 3 6T6OTM
P55 6L 2_aTergl. GLaLD &SHevemeauullev 5 0L LIy
&600T6001 [J &6VIHS M6V NGRS LN 4 : 5 LEHMS! 6T60T 160
FH6Veme6UUWIlev 2_aTem LD GIN 60T 366

A) 20 litres

20 S L& eT
B) 10 litres

10 9L LT&s6iT
C) 25 litres
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25 Sl Lj&sseT
D) 30 litres
30 0L LTS 6T

Correct Answer :- B) 10 litres

There are seven books, one each on Composition, Poetry, Drama,
Economics, English, History, and Science lying on the table one over the
other.

(1) Poetry is immediately below Composition.

(i1) Economics is at the top.

(111) Science is immediately below History which is just below
Economics.

(iv) English is immediately above Composition but not in the middle.
Which three books are in between Science and Poetry ?

(H GLem & Wiler LG 66T M 60T S 6260TMITS 7

L& &5 MmIG6T HL_(hen], Hallens, [HITL&LD, GQLITHerulev,
QLBIG6VLD, aUFeummI LnMMILD mlelluley & ul
&H606VLIL| 56160 H6VIT 660TMI 2_6ITEIT60T.

() BLOOT LUSHHSH60r GBI HGLD 2 L 60TIq WIS
FHllens LI&HHELD 2 6Terg.

(i) QUITHETIWEL LIS &850 6TLEVIT LG5 HSH MG GLO6v

o 6Tengl

(iii) QuUITEHeflweL USHHSH MG 2_Leorlq CHIHGLD 2 6TerT
UTVTHD US5H5H DS 2Lty CHI&HEK simlaiwie
LSS 8D 2 6T

(iv) B MBIFeL LSSSHD &0 LUSSHSI DS 2 L 6Tl
GBHICLOG6V 2_6TeME. 3L60TIT6V Y BIT6V L5810
BH\LSHSHELD 3|60TMI 6T60T16V 6TLDELNEOTMI L| & 558 hIG 6T
Smleflwey LMmID Sellens L5558 mIsEha&H G @60 Gl
D _6iTeTeoT

A) English, Composition and Poetry

LB, HL(HemT LMMILD SHeNleN LI5S S MBI 60T
B) Drama, English and Composition

BTL&LD, QmIGH eV InMMID &L H\60T L5558 MbI& 6T
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C) English, Composition and History
QLBITF VLD, HL(HemT LDMMILD QUTEVTMH M L|& S 85Ml & 6T
D) Cannot be determined

SL0meof1&68 (NI WIS

Correct Answer :- B) Drama, English and Composition
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The above bar-graph shows the percentage distribufion of fotal expenditures of
a company under various expense heads during 2003. Study the graph and
find the expenditure on the interest on loans is by what percent more than

the expenditure on fransport.
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Infrastruciure
Cura@eursg
aferburid
Research and
Development
FLDLIGTLD

GomseauL UL enL eleTSGLILIL LD 2003 ~JHLh 6001q.60 € (6 HLOEILGTILT6T
Qg CFealmsamar UGN QFelar Femeolysealss &
sHalldlE LURS_Te &M HEDE. UmIIUL§mE UTjaE G siselsr
Wgmneor eul g uilsit Qaevafsond, Cunb@sunds) e Qgevalidemng el
185G 6m60T &6NEGLD SHGLD CTEOILIOISE HT60018 :

A) 5%
5%
B) 10%

10%
C)30%
30%
D) 40%
40%

Correct Answer :- D) 40%
The missing number in the series 8, 24, 12, 36, 18, 54, (....)is:
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8,24, 12,36, 18, 54 (...) 6T60TM Q& MLIfl6V LD6M M5 S 6TET 6T600T :

A)27
27
B) 108

108
C) 68

68
D) 72

72

Correct Answer :- A) 27

a+ b

pe— 152

if a2+ b2=117 and ab=>54, then the value of

P .a+b . .
2+ b2=117 IDMMJLD ab= 54 6160160 —601 L& -
a MM a e Sy

A)S
5
B)15

15
C)35

35
D)25

25

Correct Answer :- A) 5
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The population of a town is 1,76,400. If it increases at the rate of 5% per
annum, then the population 2 years after and before are :

Q@(H [FHTEHH 0T INSGH6T QST 1,76,400 QLG LD.
I|IDINESHET QS TS UBLEH MG 5% il

2P &H1H5MeL @T6etor(h UBLSHMES (LPEOTLLD HMID
@ resoT(h) eUBLEH MG LNM@GLD LDS&H6T Q&M

A) 190081, 162000
190081, 162000
B) 194481, 160000
194481, 160000
C) 194480, 162000
194480, 162000
D) 190082, 160000
190082, 160000

Correct Answer :- B) 194481, 160000

A, B and C can complete a piece of work in 24, 6 and 12 days
respectively. Working together, they will complete the same work in :
A, B LommILD C eTedTLIGUT 62(IH Geuemevem (LPem MG 24, 6
LOMMID 12 BITL&6M60 (LG LILIT. eLneIHLD ©)60)600TH S
36UCAUEm6V QF IS TEV, 61558 60)60T [HITL 8561160
316UGeUMEVEM W (LOLY LILIMTE6IT ?

A)
) adu}f



67

68

3% THIT6IT

D) 4 days

4 BITL_&6IT

E.E days
Correct Answer :-C) 7

A can do a certain job in 12 days. B is 60% more efficient than A. How
many days does B alone take to do the same job ?

A eTeoTLRUT (B GMILILIL L Gauemeveml 12 BITL_&e6rfl6y
(LPLQLILIMTIT. B 6T60TLIGUT A 6T60TLIGU6MTE &HITL_LQeILD 60%
FMemLD UTUIHSE U 6T60T16V B 6T60TLIGU 61 G6U6D) 6060
615 & 6060T [BITL_&6r 16V (LOLY LILITIT ?

A) 7 days

7 BITL&6T
B) 7'2 days

7Y [BITL_&6IT
C) 6 days

6 BITL_&6T
D) 8 days

8 BITL_&6T

Correct Answer :- B) 7' days

Find the compound interest on a sum of Rs. 6000 at 16% p.a. for 9
months when interest is compounded quarterly (given (1.04)°=1.1248)
6UL_LQ UIT6OTS 626) Q16U T(H &IT6VITEO0TL] VLD & 6VIL_60T

GF LD GUMSI 9 IDMHSH MG, UMBLEH MG 16%. aUL_Lq.
55560 Q& MTeM S e1h. 6,000 -5H MG Fol_(H UL Lq.ullen6orss
&HT600TS : (1.04)°=1.1248 6T60TS)

A)Rs. 748.80



69

70

eI 748.80
B) Rs. 762.80
eI 762.80
C)Rs. 854.10
erp. 854.10
D) Rs. 924.10
em. 924.10

Correct Answer :- A) Rs. 748.80

A solid piece of iron of dimensions 49 x 33 x 24 cm 1s moulded into a
sphere. The radius of the sphere is :

49 x 33 x 24 Q&F.15. UflDMevoTLD G\&IT6v0OTL 62(H &\ 6voT LD
@ @LOL] SlevoT(h 2_(H&H 5 6(H CSMTETLOMS
2 HUTSHESLILIGSMS! 6T60f16L G ITeTE S 60T QLTLD :

A)21 cm

21 Q&8
B) 28 cm

28 Q&F.18
C)35cm

35 QF .18
D) 30 cm

30 QF .1

Correct Answer :- A) 21 cm
The cost of painting the whole surface area of a cube at the rate of 13
paise per sq.cm. is Rs. 343.98. Then the volume of the cube is :
QH FSHT Q&F.I5L_L(HHG 13 LIS T I6emailev, (I
SHEOTFSITHH60T LIMLTLI60L QUJ600TLD LLF L&D QLTSS
Q&F6V6) . 343.98 6160116V FEOTEFSHITE D) 60T Q& TEITETETEY

A) 8500 cm?



8500 Q& 1053
B) 9000 cm?

9000 Q& .13
C) 9250cm?

9250 Q&.L5°
D) 9261 cm’

9261 QI &F.L53

Correct Answer :- D) 9261 cm?®
71 An equilateral triangle, a square and a circle have equal perimeters. If T

denotes the area of the triangle, S the area of the square and C the area of
the circle, then :

6(H FLOLIGSE (N&HGHMTE0TLD, 2(H FHITLD LDMMILD 6([H
QUL_L_LD &FLOLOITEOT &+ MM6ITEYFH6M6T Q& mevor (h eiTermeor. T
6TEOTLIS! (P& B8 MeooTs; H60r LIFLILIeTem6l &Ml @LD, S
TOTLS F3IT6H 60T LIFLIL6Temne6l &Ml& &L mmin C
6TEOTLIS! 6UL_ L& Heor LFLILIemenel &mMl& @& LD eTeoflev

A)S<T<C
S<T<C
B)T<C<S
T<C<S$
C)T<S<C
T<S<C
D)C<S<T
C<S<T

Correct Answer :-C) T<S<C

72 The ratio of the areas of the incircle and circumcircle of a square is :

Q@R(H FSITHH 6T 2 6TaUL_L LD LDMMILD SMHoieL L &5 6T
LgLiLeTeserfler el gD :

A)l:1



1: 1
B)1:2
1:2
C)2:1
2:1
D)1:3
1:3

Correct Answer :-B) 1:2

Which of the following figure completes the matrix ¢

0 1
(‘J‘ /:'\. @
il

Aﬂ\ ® ||\

® (o) ?

OIVANIE

Y
/E\ 9| | Kt
£
[ & ) 2
& o !

GLom SH6vTL_ LIL_ & &l6L 6TUILIL_LD SisooTlsmiLl L&l Gleiiin 2

A)

4




B)

0

D)

b4
/A
/o\
/=\
/a\
A
A

Correct Answer :- D)
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1.55

1.40 /
/

T T T T T T T
Years 1995 1996 1997 1998 1999 2000 200]

The above line-graph gives the ratio of the amounts of imports by a company to
the amount of exports from that company over the period from 1995 to 2001. If
the imports of the company in 1996 was ¥ 272 crores, the exports from the
company in 19946 was :
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1.55

I L L L L L e
£
[oe]
wn
e

000000000~ — o
— R E NN O0 — R W RO

1 T 1 T T
Years 1995 1996 1997 1998 1999 2000 200]

Gmae  GHIGHT(H  eUeHIULLD €p@h BHMICIGTHHIGHT 1995-pld
Q(HL &Ee0(HIHGH 2001 — WD 6U@HLLD 6USHTILTIEOTET &HT6VE SN HT60T
Qm&ELog MM gHmiG SpSUMNINEG GenL GUILITsT 6lHls5ens
GMESHME]. 1996 -HLD 60N METET QMEGSLOG H. 272 GHMg. 6Ts0Tled
1996 LD Z6007q 60 SHBHHIMI6ETE SHl66T TMHMILD ST 6T LOSICIL :

A) Rs. 370 crores

. 370 G&ITLY
B) Rs. 320 crores

€. 320 G&ITLY
C) Rs. 280 crores

€. 280 G&ITLY
D) Rs. 275 crores

. 275 G&ITLY

Correct Answer :- B) Rs. 320 crores

0.01 is what percent of 0.1 ?
0.1 —60T 6T[H S FHAIHGLD 0.01 QSO ?

A)



0) 10
10
D) 100
100

Correct Answer :- C) 10

76 Twenty women can do a work in sixteen days. Sixteen men can complete

the same work in fifteen days. What is the ratio between the capacity of a
man and a woman ?

@ (HLGI GLIGIOTSH6T 6(H Galemevem 16 BITL & 6rflev
WIQLILTT 16 24600156 3|61 Gauemevenill 15 BITL_s6rflev
(LOLQLILITT. 6T601160 4,600T8 61T LDMMILD G\LI6voTds6rfl6dT HmemLn
G)fIDQSL'D:
A)3:4

3:4
B)4:3

4:3
C)5:3

5:3
D)5:2

5:2

Correct Answer :-B)4:3



77T A person deposited some amount in a bank for 7% years at the rate of 6%

p.a. simple interest. He received Rs. 87,000 at the end of term. Then his
initial deposit is :

RO 20 UGLSH DS 6% Seflall g af55S60 @6

QBTN &I 7% QUHLIBISEHSH G @@ UBIGUIN6L QEFENSSHIHMTH.
&MV (LNLG6N60 3I6UTT €. 87,000/- QUGB MIT 6T6vi 160 Uy
W56V UBIHUNGL QFNSHU QTN :

A) Rs. 50,000

em. 50,000
B) Rs. 60,000

em. 60,000
C) Rs. 30,000

em. 30,000
D) Rs. 20,000

em. 20,000

Correct Answer :- B) Rs. 60,000

78 A cone, a hemisphere and a cylinder stand on equal bases and have same
height. Then their ratio of their volumes are :
R FalDL, R SANTCSHTETLD OO R 2 BHEN6ET R FLO
QL L SHH 6V em6ussLILL (R 6Tergl. GLaID emel FLo
2 WIHemG GLIMMIGTET60T 6T60T160 26U M M 60T & 60T 66 & 61fl 60T
A& LD :
A)l1:2:3
1:2:3
B)2:3:4
2:3:4
C)1:3:2
1:3:2
D)3:1:2
3:1:2
Correct Answer :-A)1:2:3
79

The area of a square, one of whose diagonals is 3.8 m long is :
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QR(H FSITHH 6T @@ eLnemevallL_L LD 3.8 LS [HeLD eT6ofl6v
HFFSHITSHeT LITLIL] :

A)7.22 m?
7.22 m?
B)7.24 m?
7.24 m?
C)7.12 m?
7.12 m?
D) 7.44 m?

7.44 m?
Correct Answer :- A) 7.22 m?

The fourth proportional to 4, 9, 12 is :
4,9, 12 6T60TD 6T600TS: 61T 60T [HITEOTSITLD 15 & & LO6OT :

A)20
20
B)21
21
C)27
27
D)28
28

Correct Answer :- C) 27

Development' implies the overall changes occurring in both .
(LNEOTGEOTMMLD 6T60T LIS gou® LD L HGLMHSH
LTHOSOF SVEHDSI.

A) quantitative & qualitative
Sferai® FMIHS OO ST FTTHSEHI6
B) physical & Mental development



9 L6V LDMHMILD LneoTeUeTFEF Ull6v
C) Mental & Moral development

LOGOTLD LOMMILD 62L& S aU6TIEFIUI6L
D) Height & Weight

o WL LnMmMILD eTemLuilev

Correct Answer :- A) quantitative & qualitative

82 According to Piaget, four basic elements in development are :

LNwmGe2edledr SamMmILILIL, eUeT &G ull6dT [HT6dTS
I LILIED L Fn MIGHET :

A) Experience, learning, application, knowledge
SisvILIaID, HFMHM6V, LIWLeTUBH S 56V, M6 GlLIMIGe6
B) Attitude, Aptitude, Interest, Skill
BTL_LLD, L06oTLILIT6dTemL, 4 F6uLD, &) m et
C) Analysis, Synthesis, Attitude, Application
LUGSHSMS60, AFMTSSHSDS6v, BILLLD,
LiwleoT LI(h & &6V
D) Maturation, Experience, Social transmission and Equalibration

WHFTEF, giLiaID, Fens UflinmbHmLb,
FSTBHSHHD

Correct Answer :- D) Maturation, Experience, Social transmission
and Equalibration

83 1s an emotion aroused in an infant when his movements are

restricted.



6TEOTLIS 62(IH G5L0H60) & UI60T 260 F 61 G61T /
QFWEV&HET 6oL QFWwLILGD CUmE &mevor L LILI(hLD
@(H 2_00T&&.

A) Anger
@& ImULD
B) fear
LIwILD
C) hatred
QeumILiL]
D) Interest
QL el
Correct Answer :- A) Anger

84 Who told this "Attention is the process of getting an object of thought

clearly before the mind".

'&6UGDTLD 6T60T LIS [H60)60TE: (&5 LD/ 6T600T600T S T 6V @) (1H& G LD
@(H QUITIHeM6TES Q& 6flalms LneTH 6L GlLIMIe S M S Teor
B&SDWEDWTGWD" - @hS FaDenm Fa Ml WIT ?

A) Dumville
LLbieled
B) Morgan & Gilliland
GLOMI&60T LDMMILD §)6v6d GevevorL_
C) Sharma R.N.
FULmRN.
D) Ross

JITen

Correct Answer :- D) Ross

85 Hobbies are interests.

QUMWSI CUIMEH & &H6T QLTeID QLGS LD.
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A) Motivated
2 HSIS6V
B) in born
o Lerlimbhs
C) acquired
QUMUILIL L
D) functional

QFWeLLITL(

Correct Answer :- C) acquired

Arnold Gessell is an american .
S| TEOTITVL. O FHQF6V 62(H 3G LIflE 5%
A) Animal Psychologist

alleLml & 2 6meuulleVmerTy
B) Human Psychologist

LOmeoflL 2 emedlWeVITeT )
C) Child Psychologist

SGLHeN S 2 _emellIeVITeT T
D) Experiment Psychologist

LU IGFmTEHemenT 2 _amellWIeVTeT

Correct Answer :- C) Child Psychologist

expressions are modified by learning.

 Seurmn.
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— QauaflliLm@&6T &MHMmeL eLneVLd
LO M MUl 6m D& 8L LI (h) 55\ 60T D 60T.

A) Natural
@ WIMendH
B) Facial
(N&LITEULD
C) Emotional
o cooTIEGF
D) Energy
MMV

Correct Answer :- C) Emotional

means the direction of emotional energy into useful and
socially approved channels of expression.

6T60T LIS ©_600T J6) LLTEULOTEOT MM 636V

LWL 6TET LDMmMILD SFen&FH U6y mISsles L L
QeueflIum_ () eublserflev Q& mevor(h Gl&F 6L eI
Blemsveml &MI&H M.
A) Emotional balance

o 6oOT6) FLOBlemeV
B) Emotional development

D 60T J6YLLIJEULDITEOT eUETT &S
C) Emotional control

2 _600T[J6Y L, JeULDMeoT &L (LT
D) Educational development

FHeval 9 La s S

Correct Answer :- C) Emotional control



89 Kohlberg first defined moral development as the development of an

individual's )
GHMLRALITE (LNSEJ6L (NS AUETTEF emU 6 (H
& 60t 5L fl 60T QUETITED 6T6OTMI QUG TWMIS ST .
A) Sense of intution
9 _GTEH6OT 2_600T6Y
B) Sense of maturity
W 2 eworey
C) Sense of Values
LG 1L 5611 60T 2_600T 76

D) Sense of justice

B 2_evor ey

Correct Answer :- D) Sense of justice

90 Mc Dougall discovered basic instincts.

QL&CLITEH 6 Q. LILI6D L 2_6IT(6TH 600T [J6) 8 60)61TE
Seoor(HLING S ST
A) 13
13
B) 12
12
C) 14
14
D) 16
16

Correct Answer :- C) 14

91 '"Learning covers every modification in behaviour to meet environmental

requirements" - who said this statement ?



"G M MIGF G LDV CHeMEUSEMET LLTH S Q& 6US M & TeoT
BHLSMG LDTHMBIGHEN6T MMV 2_6TeTLE&HWS!". — @\ bHS
Fa MM FonlUIGUT WITIT ?
A) Gardner Murphy
SmyLeory Ll
B) Henry P. Smith
Qamern P. ervLdlg
C) Wood Worth
QL Qeurmgs
D) Crow and Crow
&SI LMMILD &G

Correct Answer :- A) Gardner Murphy

92 theories belong to the school of behaviourism.

GHMLUMTH&HET [FLEMSE6UTS LiaTerflemul &
GFJHEH M6 G LD.

A) Cognitive
S MlelmmHmey
B) Trial and error
GFmgement LDMHMID LemLp
C) Law of analogy
e@LllLjenln lH)
D) Connectionist
@\ 6m6uoTLIL|eUTS

Correct Answer :- D) Connectionist

93 The learning outcomes of the Gagne's theory is



&HME60fl G&ITL_LIML_19.65T B5MM6L QeuerflLLm(h & erfleor
QuUImTmBeT ——M

A) Intellectual skills
WY& Ty S meoTg 6T
B) Latent learning
2 _GTEHENM SHMM6V
C) Learning and repetition
FHMHM6L LDMMILD HHLOLEF QFUISE
D) Learning by doing
Q& UL6US 60T eLAGLLD &M M6V

Correct Answer :- A) Intellectual skills

94 In Spearman's two factor theory 'g' refers to

e LIw T GLoeofledr @) Tevor(h) &IT 6ot (SBSITI_IJITI_LQ.GU
TOTLISI 6Te S GMERMSI 2

A) general factor
QLIS SITIyevor]
B) genetic factor
DT L& &ITT60of]
C) gentle factor
QLD 6OT6D) LO UL TEOT 85T (6001 |
D) gene factor
O[T LI&TD) 55T [J600T ]

Correct Answer :- A) general factor

95 Guilford's developed a model of intelligence on the basis of the factor
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WiledT 919 LiLiemL_uleL BLELIMTTL 62(H

(LPeTLOME ] Hi6voTevor Nl 606U 2 (1H6UTE G UL 6TETITH.

A) Experimental research
LU IGFmTEHemenT QT MUIEFS
B) Action research
QEFW6L QLT TUIEFSF
C) Analytical research
LUGSLUUTUIe SLTmUIEe
D) Longitudinal research
BeTQeuLl(h U TTUFSF

Correct Answer :- C) Analytical research

"Creativity" implies the production of a 'totally or partially' noval identity
- who said this statement ?

'Lem L LILIMTMM6Y 6T60T LIS (LD (LDEMLDUITHCEUT 6V6V S
LGS U6TGAUIT, L|SI6MLOWITEOT 62(H 60 L_LITETES6M 5

2 HAUTEHEGMMS GSMDISHME!" -@HS &nHENID FnMIWIEUT
Wiy ?

A) Drevdahl

1QTeUGL TQM6V
B) Stagner and Karwoski

6NVLMTE60TT LDMMILD &5 Geumen &
C) Spearman and Kelly

e LW GLoedT LnMmMILD G1&H6V6e0
D) Bartlett and Miller

LUTFLQeuL nmmild levevry

Correct Answer :- B) Stagner and Karwoski
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in 1959 tried to perform the first experiment on the span of
attention.

1959 —60L &eueorT FIFLIL UMW (NG ey

GEFMHem60T6n U Q& I (LOUIGOTMITI.
A) William Hamilton

all6vedSlwiLd emmLdlevLeoT
B) Dumville

L bedled
C) Roediger

CUm.&y
D) Sharma R.N.

FULmRN.

Correct Answer :- A) William Hamilton

The establishment of the Bureau of Psychology in Allahabad was the
direct outcome of the recommendations made by the

VEMTLTSH 6L 2 _emailuley Lieoolls560m5 ﬂgaﬁlu_@ —
Seflgg LFlBSlIemnTumTELD.

A) Acharya, Narendra Dev Committee
SLFFTTWT, BEIHE T CHel G W

B) Mudaliar Commission

PFHOWTT S
C) Kothari Committee

CxME5M G
D) Dr. S. Radhakrishnan Committee

Dr. S. JIT&ITE (HEXQ.600T60T (& (LD

Correct Answer :- A) Acharya, Narendra Dev Committee



99 Honourable Prime Minister launched the "Transformation of

Aspirational District" Programme in

Lomevor LA @& LIT&L0 DBH ] "Transformation of Aspirational
District" S L HME ——— 6V QS TLHISH emeUS ST,

A) January-2017
sgeoTeUfl — 2017

B) February-2018
Ldigeurfl - 2018

C) March-2018
LOTI& — 2018

D) January-2018
seoteUrf] — 2018

Correct Answer :- D) January-2018

100 1p all teacher training institute, aided and unaided were
brought under the control of DTERT.

L SmeTH S Al LWIHG BloieleTmI&EHLWD, 2 e
QUMILD LDHMID BIH 2 Fal QUMTS Bl mIaI6THISEHL DTERT —udledr
&L QLML 19657 BLD Q&mevor(h Uiy LILIL L 6oT.
A) 1997
1997
B) 1995
1995
C) 1999
1999
D) 2001

2001

Correct Answer :- C) 1999



101 1n Psychology this is termed as intelligence; in ancient India our great

rishis and seers named it

2 emalluedlev, @& Licvorem LW @) HE Wmedlev LieveoTTlle)]
6TeTml MW &HSLILMG& M. Bog Quiflw fladlser
LOHOID EF&&ESFFSHET QHNHEG ——— 6eT60T )
QuWIflLLeory.

A) Wisdom
©bITeOTLD
B) Investigator
Lj6vedT & ITIy6v)600T
C) Viveka
llGeussm
D) Mentor
QLOGOTL_[J

Correct Answer :- C) Viveka

102 A pathy reactions have been Studied by through their
experiments on effects of frustration on children's play behaviour.

GBS &6 6T ellememumLl_(h HLGem & Ullev allTe S ulledr LIMkIG
STEITD G&F MSHEMEIT ELEVLD 'a@j@ﬁl@muﬁ]@ 318 860 MW 60600
TEOTLIS —— 60 BLSSLILILL Sl
A) Banker, Dembo and Lewin
GUMmBIST, LIDGUIT LMo Glevedledr
B) Miller, Bugelski and Dennis
LAl6L6LIT, LI&6LENV G LOMMILD GIL_60T6vf 16N
C) Guilford, Allport and Gordon
B LSCUMTL, SLe0CUMTL LDMHMILD G&HITIL 60T
D) Hurlock, Thomas and Alexander
QMITEVTE, HTLOGNV LDMMILD G 6V 86N ITE00TL_[J

Correct Answer :- A) Banker, Dembo and Lewin



103 provides the raw material or the potentialities of individual.

— ETEOTLIS CLPEVLIQUITHET {6V6V S & 60Tl B LI 60T
2HMen6ev 36efl&HEHR MG

A) Environment

&P blemney
B) Heredity

Loy
C) Physical factor

2 L6V SIT6evoll
D) Social factor

FeNG SITI6vol]

Correct Answer :- B) Heredity

104 According to Eysenck, there are levels of behaviour
organisation.

TGS SMHSSILILL., BLEHMS 2 ulliflserfley
[5160)6V856T 2_6ITEIT60T.

A) Two

@ evor (b
B) Three

eLP 60T
C) Four

BTETES
D) Six

S50l

Correct Answer :- C) Four



105 Jung divided all human beings into basically two distinct types

OBl I|6M60TES Gl L0605 TaemeTU D 31q LI L Ullev
@ evor(h GleuelGaumi alems&HeTms LI LNfl& s
A) introvert and extrovert
2 6T(N&LD LDMHMILD LM UPSLD
B) Learning Approach and Learner Approach
D6V UGS PEM D LOHMILD SHHLIEUT G LPEDD
C) attitude and aptitude
LOGOT LILIT60T6MLO LOMMILD [HITL_LLD
D) None of the above

GLCev GMILILIL Lemel eTgIa]|LD @)6vemev

Correct Answer :- A) introvert and extrovert

106 Father of behaviourism .
BLHOG UTSHT60T HHENG ———
A) Eysenck
@) Q6rV60TS
B) Watson
6UTL_& 60T
C) S.R. Maddi

S.R. D55
D) Allport

QLeVELIMTL

Correct Answer :- B) Watson

107 The theory of achievement motivation was developed by and

his associates in 1951.



"FIH6E0)60T 2_HHFHV" CHTLLIMTH —— LOMMILD
SIS F&HMTEHEETTEV 1951 —6V 2_(HeUMHSHLILIL_ LS.
A) Mc Clelland

QL& TR 6T6VEVETOTL
B) Hallow

QM ITG6eVIT
C) E.L. Thorndike

E.L. &TJe00T60 L5
D) Berlyne

QuITedl ot

Correct Answer :- A) Mc Clelland

108 devised the technique called Thematic Apperception Test.

AFCUWTT S&HEH[HSHS FT GFITSHEM60T 6T60TM

Bl LISH60)S 6USSSH60T.
A) Brown J.S.

LIGymeyedr J.S.
B) Atkinson J.W.

S| G\ 60TEF 60T J.W
C) Hall, J.F. and Kurt Lewin

QMmMmeL J.F. InMmmID &L Qevedleor
D) Murray and Morgan

WGy LmMmILD GLOITI& 60T

Correct Answer :- D) Murray and Morgan

109 Biological motives orginate from organic needs, such as



o WIflwev GrmeHemigeT —— GLImeTm &l
G5 6m6UE6fle0 (HIH S 2_(TH6U TR 60T M 6DT.

A) esteem, self-actualization and achievement
LFlWmems, &WIDWLDMESH 6D LDMMILD & TS 60 60T
B) hunger, thirst and sex
LS, MssD InmmIDd Limedluiev
C) Winner, rewards and prize
Qeumml, Qe LG ImHmID Liflar
D) None of the above

@eummlev ersi6L6vL6mI6V

Correct Answer :- B) hunger, thirst and sex

110 The famous Psychologist was the initiator of the theory of trial
and error learning.
LNruev 2 emellwlev BlLeoory ——— (WM LmHmiD

LemLp &mHmev CaHMLLIML 60T Q&ML EHINMTS @ HHSTI.

A) Edward L. Thorndike
6TLeUJL L. HTJ600T6m L&
B) Ivan pavlov
@) 6uImeoT LIMeUGeuITeY
C) John Watson
SOT6OT 6UITL_& 60T
D) B.P. Skinner
B.P. 60 &\ 60T60T [T

Correct Answer :- A) Edward L. Thorndike

1 Joule coefficient in free expansion is



936V 6l [FeU6L 6T6v0T (LN (e LoUlmeor elifleumss & 60l 6ot

GuMsl QL& LD.
A) N EJ
T lav ik
i ﬂ}
T lavk
- (8)
17 ar),
o
=7,
A ¥ ¢
T Iﬂ"]
“_tcw_,v
D)n=0
n=0
_[(81)
i _‘xav_,lv

Correct Answer :- C)

112" 'Which of the following is not a paramagnetic material ?

GLp&Ee00mLalmMIeL 6T LITGTT&HMTHS GILIMTIHET G 6V6VTSH
&HMHSH H6OTeNLOU|6ML_UIS ?

A) Platinum
LermmL_1q 60T LD
B) Aluminium
S sviLdleoflwi
C) Copper sulphate

STUUT FeuGUL



113

114

D) Iron
@y
Correct Answer :- D) Iron

Choose the correct statement :

FHWMTET SaMenmMs CHT6| Q& UIS.

A) Weight is a scalar quantity
6Tem L — 61VC&HVITT jeTai(h)
B) Weight is independent of the location
6T — @ LHMG QLIMTMIGS S FTTMTH (H& G LD
C) Weight is the vector quantity
T — Qeus LT oemei()
D) w=Fa

w=Fa

Correct Answer :- C) Weight is the vector quantity

Temperature gradient is defined as
QeULIL UL L LD — eUemFUI M) :

A) average between initial and final temperature
LT, @mIS QelliLiplenevsserflet &rmeif
B) temperature difference per unit length
RTeVG HeTsHM & meor GleuL1LBl6t6v GeumiLim(h)
C) ratio of temperature difference
QeuLILIBlem6v GeumILITL 60T &H60)15H6)
D) difference in temperature

QeuLlLBlensv GeumiLim@)

Correct Answer :- D) difference in temperature



115 Pauli's exclusion principle states that

Limedlufler QeueflGULMMISE H&SI6UL0D — U6 T M :

A) Two electrons existing in same state
@)D 6TELEL_[JITEOTE6T &FLD BlemevUileL 3| 60)LDG5 6V
B) No two electrons can exist in same quantum state

6TIHS @)\ (H 6TELEHL_[JITEOTSH EHLD &FLN (& 6) T600TL_LD
Blenevuil6L e UITS

C) No electrons be in same state
6TIHS 6TEVEL_JTEOTSEHLD G Mlemeuulel BjemLDUITSI
D) Each electrons have all different states

66UG6UM(H TC6VE LT ITenILD Gaum Gaumi mlemeuuilev
6T6VEVIT UM & WISVILD BjemLDU]LD

Correct Answer :- B) No two electrons can exist in same quantum
state

116 Cantilever is :
UG ETEFEL_L_LD 6T60TMIT6V 6T6OT6OT ?

A) a wire fixed at one end and suspended at the other end

&L 60TMI 62(H (LNEMEOT QUIMTBHSSLILIL () LD.MI(LO6D)60T
Q& Mm% L LILIL L Blemev
B) a beam fixed horizontally at one end and loaded at the other end

FLLLD HemL 0L LLDOMS 62(H (LN6060T QUMTHESSLILIL ()
LD MILNEm 60T 6TemL_ G Qs mmIsGelLLILIL L Blemey

C) a beam fixed on both sides
FLLLD @@ (emerderflel QUTHSSLILIL L Blemev
D) a rod suspended from a fixed point
E]L'Dlj] @ (WemeorLl Lemeflulled e Qs mmigelll L
60)6V

Correct Answer :- B) a beam fixed horizontally at one end and
loaded at the other end



117" 'Which of the following is NOT the ore of Aluminium ?
L9 606U (TH6U 60TeU M MIET 6T 3| eyl 6ot & &) 60T ST
@ evemev ?
A) Bauxite
LIMT&emn &L
B) Cryolite
S flGwImemevL.
C) Colemanite

GG MEVLDEMGOTL
D) Corundum

Q& TJevoTL LD

Correct Answer :- C) Colemanite

118 The polymer polyhexamethylene adipamide is commercially known as :
LTI Qam&FmQLng HeSer i1 LiLenn(h 6Texild LIGVLIL
aueooflss FEHIUleL @eueumm SMWLILGSMS! :

A) Nylon (66)

60 [H6VITE0T (66)
B) Teflon

QL& L16VITE0T
C) Polythene

LI &85 60T
D) Kevlar

Q&H6UGVITT

Correct Answer :- A) Nylon (66)



119 'Which of the following is having a coordinate bond ?
L9 606U (TH6U 60TeU M MI6T 856V LIl6tr600T LIL|6mL_ LIS 6TS! ?

A)H,0
H,0
B)NH"
NH"
C) CO,
CO,
D) NH;
NH;

Correct Answer :- B) NH",

120 The process used to get silver from commercial lead is :

aUeoofl&s FHlumeot STFWS S 60 [BHS GeleTerfleo
N5050H1&8S 2 Halb (enm :

A) Parke's process
LM G&s Ulledr (Lnemm
B) Mond process
LOIT600T L (LD6DYM
C) Cyanide process
Fwemeot(h (Lhedm
D) Hall's process
QM TS 60T (N6t M

Correct Answer :- A) Parke's process



121 The chemical formula of the ore Zinc blende is :

Amis LNQemevorL mgieflerr Geus eumulium@) :

A) ZnS
ZnS

B) ZnCOs
ZnCO;

C) ZnO
ZnO

D) ZnO.Fe,03
Zn0.Fe,03

Correct Answer :- A) ZnS

122 'Which of the following is a Vat dye ?
LYl edTe (HeueoTel M MIGT QS ML_IQF FTUILD 615! ?

A) Alizarin
2160\ & if 60T
B) Martius yellow
LOITITLQ.UI6MN LD @H& 6T
C) Naphthol yellow
BITLISITEL LDEHE 6T
D) Indigo
@)\ 600TIQ. G&IT

Correct Answer :- D) Indigo



123 Traveller's tree/palm is otherwise known as :

LIUI600T & 6T LOJLD / LIGM 60T 6T60T 6DLP&H&LILIB6USI 6T ?

A) Ravenala madagascariensis

GallGeuTeuIT LOL S Mervas Tl Quleorerdlen
B) Orchidantha sp.

A THHCLIBSIT sp
C) Strelitzia reginae
VL Qe AW QyedlGeor
D) Heliconia sp.
QamedGasmeoflW sp

Correct Answer :- A) Ravenala madagascariensis

124 Fruit ripening hormone is :
5601185606 LI(DES LIW6TLI(HILD e@mTFGLOTeT @S :

A) Ethylene
615 5) 60| 60T
B) Auxin
24,8 610l 607
C) Kinetin
60) 85 60T L_Lq 60T
D) All of the above

GLOBYIGITET {60)60TSHSILD

Correct Answer :- A) Ethylene

125 Middle lamella of cell wall chiefly consists of :



QFevaalfler @emLW(BH &R 3H &Hemallev &mevorLiL(HILD
QUITIHET :
A) Cellulose
QFNIG6LITEN
B) Lignin
601 &> 60T 60T
C) Calcium pectate
smevadlwib QuUEGCLL
D) Mucopolysaccharides
LW CHTUTINCFFHMT()

Correct Answer :- C) Calcium pectate

126 By far, the most abundant protein on Earth is :
Ldlullev 9T 8 Ijemailev smevorLILI(HILD L|TSLD

A) Rubisco
epLNevCasIT
B) Fd-NADP Reductase
Fd-NADP flL&GL 6V
C) Ribulose Biphosphate Oxygenase

FlyBGevmeny emLILIMenGLIL. 3,8 6ri el Georerv
D) PEP-Carboxykinase

PEP — &M LIM& 6rdl 6 8 Geotery

Correct Answer :- A) Rubisco

127" Oen of the following is a Petro plant or Petrdeum plant :



QUL GTmUUWIT &j6vevd QUL Grmedlul LIuIF / STediyLd
eTeoTLILI(h6UGI —
A) Euphorbia hirta
weurylwm ey
B) Hevea brasiliensis
amlelwm LI & evesr&lerv
C) Tridax procumbens
LenJLT&6rn L|GIITE LD LI60Ten
D) None of the above

GLosyleTereu MmNy 6T&16)LOl6VEm 6V

Correct Answer :- D) None of the above

128 First recombinant subunit vaccine is :

(WNG6L L6TCEFTEHMS HLoev@ CHTUISHILIL LD(BHS @S :

A) Hepatitis B
QamLILL 19 L 196V B
B) Hepatitis C
QamLiLL gL 196 C
C) Hepatitis A
QemLILIL gL 1960 A
D) Hepatitis E
QamLiLL gL 1960 E

Correct Answer :- A) Hepatitis B



129 'Which one of the following about the potential effect of global warming
is incorrect ?

2 eusermallw Qeuliu 2 wiadlesr eflemeTemneull LM,
L edTeu(BLD 6TH & E S MM S6UMTEOTS ?

A) Decrease in methane from permafrost

QUILOMSLITMeLg.el (hH S QeusflGumild L8 G860t
&60)MeY

B) Melting of polar ice

Sl([HeU L& 2 (HE 56V
C) Elevated temperature

o _WIHL QeuliUpmlemnev
D) More rainfall in shorter period

GSMMIHS SHTVEFH6L F G LU QLTS 6

Correct Answer :- A) Decrease in methane from permafrost

130 The bacteria that causes plague disease in man :
LneoT & 60t 60T LNGermds GBITUl&: @ SITFeoorLlnmeot LImsse flwim
A) Coxiella burneti
&HMEerflwevevm LUFQHL LY
B) Streptococcus aureus
ELTUGLTETEHE 6N b iflwen
C) Escherechia coli

6TV & FANWIT C8IT60)6V

D) Yersenia pestis

eTFF 6ot W QLISNLY 61V

Correct Answer :- D) Yersenia pestis



131 Colour blindness is a genetic trait in which a person is unable to

differentiate colours between :
BID& GSGO 6T LOTLISTDI GEDMUITL 460 (B
LD 6011 S 60T TV 6TH& @)([H BIMMHIG 6T CaumiLI(H S5
wuwmgl ?
A) Red and blue
FauliL| LnmmILD Hevld
B) Red and green
FauliL| InMMILD LIS
C) Red and violet
FleullL] LDMHMILD 2655 T
D) Red and yellow
FauliL| LDMMILD LD EHE 6T

Correct Answer :- B) Red and green

132" Name the chemical which has the shortest atmospheric Life span :

1088 GHemMmIHS 6 ert1L0600T L6V 6UITLDBITEH60) L
GeuBLIQILITIHET 6T ?

A) Halon 1211

QMITEVL6OT 1211
B) CFC 11

&l.eT1.&). 11
C) Methyl chloroform

5560560 GHCemmCIMe LML
D) Carbon tetra chloride

STJU6T QLT &Cermen ()

Correct Answer :- A) Halon 1211



133 The chemical name of Vitamin B6 is :

emeuL_ L L8ledT B6 —60T GeuSLI QW

A) Riboflavin
FlGLIMS LN Gemal 6T
B) Pyridoxin
e LI If1Lm&s enSleor
C) Thiamin
60 & W L0l 60T
D) Biotin

LIUI T LS. 60T

Correct Answer :- B) Pyridoxin

134 Name the fish variety in which a female guards the eggs by keeping them

in the mouth :
(LPL6DLGH6M6IT &60T 6UTUINEDI6T 606US S LIMSISHTE G LD
G\LI6v0T LOGIT 66D 6TSI ?
A) Tilapia

© & 600T60) L
B) Anguilla

eallevrTmI@ LSeoT
C) Ophiocephalus

W6V
D) Clarius

Q&EH5S)

Correct Answer :- A) Tilapia



135 Qeaerlwest, LTS 6T eTetT & 6dTm Liet6oT@ L6V

TS W6 :

A) SIMIE51T S| 6v0T600T T
B) ysiemnn LI & g 60t
OF: T332

D) Q25 TIH & 60T

Correct Answer - A) 3|MI@HIJ ]600T600T T

136 wimemeor L& & Lyeulh GLIMeL ... (184)

@UILMBTTHm eUfl&He6T eTghemeor ellemsas
2 QIMDWMSHSLILLL S ?

A) aurfleNGIL1L

B) &fyid

C) 9i7en @uleu

D) @& 8l

Correct Answer - A) euiflel&\L1L

BT L@ mmitiLg ! 6T LT LSS 6V GILI([H 65 G 60T
Q@ UTemM6m UL LIMIQUIGU WIT ?



A) Liyeoor [y

B) 596017

O) &sm&emas L1 LIMIgeof IWImy

D) 911§\ Sy

Correct Answer - D) Q&0 &Lpmy

133 QimedT &60H& LOMET0 & HEUMTES MBI 6UTEFSHE NS

BIT60T H6VHS LIMHIMISTEV ...
2 allLmnev @eoflliLiIgiCeu!

6T6OTLI LIMLQ UG,
A) GFHRMT
B) @mnedmiss 91986

O) mujLnmeoreury

D) oimevor @ BTS T

Correct Answer :- B) @I TL060IMIS 19 &6iT



139 o #RAGLM Leveu T Q& maT

6T60TM ML QMEIWImeL LIS & LILIMGILD LIPHS LA
2 empwme flwr.

A) @\6ITLDLL [T 600T )
B) G euTmeuem yuly
O) &R et R 6ol Wy

D) 9| uIMi& & HELEVITIY

Correct Answer :- C) [H&F6oTTT& G eof Wiy

14010960 eN(HE S LD 6T6dTERILD LIMTL6m6VLT LIMIGWeUT :

A) S|t R BTST
B) LI&mUTT
O UL Q60T ST

D) g5600TL_LIM600l] &r6u ML &5 61T

Correct Answer :- A) 3|(H6vor B fBITS T



4 R \hEH5EHHCHMT UTYWSTHS &HSLILGILD FmIBme :

A) 560 N HSHLD
B) bl el (& &0
0) Gauev NBHSSHLD

D) nuflev el & 50

Correct Answer :- B) BIf] (& &L

192 51801 @evd a6t LiGLILI6L efletIL 67188 6m 60T

U6 & LILI(HILD ?
A) eTl_(h
Buss
C) 20

D) 15 &

Correct Answer :- A) 6TL_(h



143

144

L|MLIQLITIHET Q6u60oT LITLOTEm6V Samild QFaillulnmlemre
6THSLI LiM& Hemevoruilev @)L LD QUGB M ?

A) Qa5 & emevor
B) 611655\ & &) 6076007
C) LUmLmevor &) emevoT

D) &meh & & H)evevor

Correct Answer :- C) LITL_T600T 5)60)600T

L&CLHIILI Livalen T 245155 aleiTere :

A) Femr LWILILI 6U6ITEm6eY
B) F5855 M5
O) S J60T FaUTHS

D) GFgILE) LneoTeoT

Correct Answer :- C) &FHH)J60T S-6UJ5 5



1% BeiTamey Fnmilh FMTOLIDS SIS 6T 67856 60T
e & LILI(HILD ?

A) LG
B) speoTLIS
Ogw

D) mmeor&

Correct Answer :- A) U 5@]

146 G\em&g BML&SOMS UbBS BHESOTTH FH&HTEH Ei&S6m 60
LITLQ U6

A) &L T wevofl W LIS WImF
B) @urmusshHF sellgmwy
O) Gemunshsy LUMTTFSHWTy

D) G5 mLIMev &\ (H619.600T LIMTTSHIWITIT

Correct Answer :- D) @& TLIT6L S ([H61q.600T LIMTTHIWITIT



47 Qaarawm, sUDEFRL G & W G &Lhg 66

148

AR W

A) LTS & TaFeor

B) QUmEFSH ety
O) s AlLD eperfl

D) 9y1p. euemerfluiliim

Correct Answer :- B) Qu@@ﬁﬂgg JeOT I

FLO600T FLOULSNSTF FTTHS @)Ul d]g')ac.réjas HITELE H 6V
SLOLDE FHIGIN MDGSTT 676018 SaMLILIGSMS! :

A) UEST BHS)
B) Lieuevor s 5)
O) auggFeorH S

D) Geums iy

Correct Answer :- A) QJB':@U LF)LF)@



1991 | 6trenfl (5 BB LP D MM ETE Q&M HLOLIWITEToTL T
B LML &5 BT6V :

A) 9IDLSS HHeUHSTH
B) 9 gmdl o6& TH
O) BBS0sMeuoTLT HHeubsTH

D) &6m60L086T 3 HSHTH

Correct Answer - C) S(HSOSHMeooTLJ H([HeUBHSTH)

30 o gmprammmd O5TSLILI6 memMmLI LIEHL 6T6voT
Q& T600TL. LIML_6V&H6IT 6TH& 8 5)60)600TE> G5 1| U 60T :

A) (P6eLEM6L

B) b®m&LD

C) umemev

D) mleh &

Correct Answer :- C) LIIT6D6V






